T E [

As

H=66

66.5p

Bl A \\\
“043 \

$=1:200
)
WIRER L=3 8n

R - BIET| L=2.8m

B L= 6n
WS- Ol s campa -

L=0. 5m (A=0. 5m;

I ii $=1:50

(B )

I ii $=1:50

(HETHEER)

B H X TEHEN
2800 400
1400 1400 g
8 =4 8
T q ¢
840
v65. 88 i
14l 7 |
g } |
; | 4 \ S
o g
3 | i | L
\
. J% | |
S | |
v62. 88 <
i J SRR RC-40_— =
460 2340 t=20cm
2200
2400
& hztiEes IXLBYHER
% # bl wO|E M B 2 i z
avyy—+ 18-8-4088 | m’ 10.7
E] # m? 24.3
# B #H | RC-40 t=20om | m’ 6.6
X E ¥ E m’ 6.6

o
™~

160 |4

RE BATHEAS(13) t=4cm 2. 35kg/m3

FLA

PK-3

B&A% RC-40 t=16cm

I %K

S$=1:50
XKimT L=4310 300
650 1560 1400 1900 700
130 520
=t = g o
- £ ¥ §
800 600
HRft A<0.5ni
EE A=4.3m
=0. 9rri, CA=3. 4m
\ MOk T
N=T. OB
N
\ _
L | | N/
g |8 = it
\% ‘% ‘% | ‘ | g a«;EEéA:o. g
K | = . L /e I RBREH
5
| } | B\ 1B/ %
- = g
‘ | #ﬁvﬁjﬂ“}7i‘\:20.8m’ }w }w
\
|| | |
| ‘ | |
620 | 650 | 1560 ! 1400 ! 950
5180 9050 | 700
HBETL=6830 1300}
BEEHEX
S=1:50
Xigavo)—+k
AN, g
=
ER=A -
=

% i B A 4%
300x300x10

JKiEE/S4 T 1=0.53m
VU 40 1tFR/3m2

EAHary)—+t

(avoy—rJOovoiE)

Xgary)—+Fk

$=1:20

t=10cm
E@garoY—+
avy)—kJov IR IES 1] avyy—rIJny otk
. T & = EH
& W R w = Hw | S | b [l
PARERE: | % 35cm m2 20.8
NS | 4.40 | 5.25 | 3.71 2.06
®E A # — 3
= g4 o I BHFE | 4.05 | 4.86 | 3.48 1.89
X % T m 4.3
Clm | 3.19 | 3.90 | 2.59 1.29
® @I m 6.8
C+1.40| 2.42 | 3.04 | 1.95 0.91
MOk T 7 1.0
L) C+3.30| 1.37 | 1.87 | 0.91 0.38
B T HRE m2 0.8

X # I HIEDE &
£ # bl OB 2 i =
avsu—+t 18-8-2588 m? 0.5
B # m? 2.3

A0 1)—F
$=1:20
.3'50
o
S
350 )
sl | 230
5
8 .
5 8 61 -
~
F—F———
550
(&E)
£ B T 10 Y HEE
£ [ R wO|E ] & g & z
avoy—+k 18-8-40B8 | m° 2.0
0\ = | e
$=1:50
300,
3
- e
R 2
I -
=N 1 OERYY HER
£ R i ®O|E ] ® g # E3
avoy—+k 18-8-40B8 | m’ 0.5
] # i 2.9
I8 32
SHbEERELAE S
I%E .
FRRAMENEXARRKECEIE
HEIERA #m AERAETER
HEDELE FER - TER
R B HEES 1/3
MIEK EWERMKES R EEBERSE




FALEL ) 0.1 [ZEEHELH 1.2
#wE (1) 82 |[E|x ®B| 20
KB (1) 13.9 || 4 2.05

SRR 1.94
DL=55. 00
EALEL () 0.1 |[AEEK@LH 1.2
7R 55 |E|x & 2.09
KAE (1) 89 W | i3 2.09
Bt 2.02
DL=55. 00
FALELE () 0.1 [AEERELH) 1.2
2R 5.6 |#E|& & 1.99
K (1) 99 |&E|E 8| 1.99
EEdrtit 2.23
DL=55. 00

+3. 80
3000
500 2000 50,
2050
o 2060 |

3000

po 2000 50!
2090
2100

V62,88

2200 |

/2400

EhABET

NO.0(+1..00)
3000

p00_ 2000 50@
1990

2230,

3000

\
\

[ 230
BARMET

C+1.4  C+3. 3R
C+3.3  C+4.3
A (2) 20 1.0
RALEE Q)| - -
P LEmER - -
BLEEBER| - -
KHE (2) o4 0.4

2920

2000 T
v65. 88

1 i X

§=1:200

DL=55. 00

DL=55. 00

NO, O

NO, 0+1. 00
+2.40

3800

+3.80

1000, 1400 _, 1400

DL=60. 00

CHRE

BERE

AWTE

R

3710

V60. 05

| i Al 2.9
bemtmt @] o5
HEERGLE)| 0.4
EEER (ELH| 0.6
R (2) 0.5

7 Al 2.7

AL () 0.1

EEER L | 0.8

EEER (L) | 0.1

K (2) o5

& Al 3.9

mALTELT(2) 0.5

EEEROLE)| 0.8

EEER (R | 0.6

K#E (2) 05

XAME: 0.0
A+0.13
AMOEERELHALEES
I%4 y
RERAIBARXAERNEEBTIE
WIERE & FRRSETER
HEOESR AR
% R B HEES | 2/3
BIER BTRMKESREEREMRR




{7 5% F 1

§=1:200

RiFET IHER

$=1:50

TRl
__ATE

DL=60. 00 ' £ 51=0. 35m
— 1000

BEEN VIFLVE ¢300

L
_ CHrm

77

DL=60. 00 1200 £ 35L=0.35m
EEEL YIFVE $300

REE A Z -
AMOEERELHALEES
IH4 y
RERAIBARXAERNEEBTIE
WIERS 2 FRRSETER
HEOESR REHFER - RFVTIRER
w® R B HEES | 3/3
WIEHR BRTRMKESREEREMRR




